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SCHOOL OF BUSINESS AND ECONOMICS
DEPARTMENT OF COMMERCE 
        FINAL EXAMINATION AUGUST SEMESTER 2017
 CODE: ACC 311T	    UNIT:  INTERMEDIATE ACCOUNTING 1	
====================================================================
[bookmark: _GoBack]INSTRUCTIONS:                                                                             TIME: 2hrs and 30Min
Answer THREE Questions and the first one is compulsory                                                 

Question One:

1. The study of accounting theory involves a review of both historical foundations of accounting practices as well as the way in which accounting practices are verified and added to accounting regulatory frameworks that govern financial statement from financial reporting. This is based on two underlying assumptions. However, there are other assets valuations methods that can be used. For example, a company owns a machine which it purchased two years ago for shs 200,000. The accumulated depreciation on the machine to date is shs 80,000. The machine could be sold to another manufacturer for shs 100,000 but there would be dismantling costs of shs 10,000. To replace the machine with new version would cost shs 220,000. The cash flow from the existing machine are estimated to be shs 50,000 for the next two years followed by shs 40,000 per year for the remaining two years of the machine life.
The relevant discount rate for this company is 12% and the discount factors are as follows:
Year 1  	0.823
Year 2		0.797
Years 3-4	1.348 (annuity rate)

Required: Calculate:	
a)	Historical costs, 
b)         NRV, 
c)	Replacement costs and 
d)	Economic value								(8 Marks)

e) Discuss the two underlying accounting assumptions that every accounting student should know											(4 Marks)
f) Using the evolution theory, determine the four inductive approaches and the four theory-deductive approaches to accounting theory						(8 Marks)
g) There are two major world body’s regulators that are involved in harmonizing accounting. Name the two bodies									(3 Marks)
h) Consider a business that buys land for a Shs.10, 000 with cash introduced by the owner. After several years the business sells the land for a Shs.15, 000. In the meantime the general price index has risen from 100 to 130, and the speciﬁc land index has risen from 100 to 145. The business intends to buy a very similar replacement for a Shs.14, 000 in a more convenient location.
Required: What proﬁt does the business make on the sale of the land? Using the historical costs and the adjusted historical cost to inform the concept of capital maintenance 	(6 Marks)
i) Explain any four reasons that have made historical accounting method of recording a deficiency/ a problem as a valuation method						(5 Marks)
j)For each of the following stakeholders, identify the accounting information that will be of Interest to them and why?
i) Investors. 									(2 marks)
ii) Lenders. 									(2 marks)
iii) Employees and their representatives. 					(2 marks)


Question Two:
i. The directors of Todays Ltd have provided the following extract of a balance sheet as at 31st January 2015
			Cost 		Depreciation		Net Book Value
Land and Premises	250,000	93,750			156,250
Plant and Equipment	75,000		36600			38,400
Furniture and fittings	18,000		12,150			5,850

During the year ended 31st January 2016, the following additional information was provided:
1. Review of the land and premises was done and a recoverable amount was Kshs. 135,000.
2. Plant and equipment was purchased on 1st May 2015 for Kshs. 26,200
3. Plant and equipment original costs was Kshs. 18,750 was sold during and the net book value was Kshs. 9,600.
4. Fixtures and fittings were purchased at a cost of Kshs. 7,200

The accounting policies of the organization were as follows:
a. Land and Premises are depreciated using straight line method at 2.5% per year.
b. Plant and equipment are depreciated using reducing balance method at 20% per year.
c. Fixtures and fittings are depreciated at 15% per year at cost less 10% scrap value
 
Required: Prepare a non-current assets schedule as at 31st January 2016		(20 Marks)

ii. A company purchased a building on 1 April 2007 for $100,000. The asset had a useful economic life at that date of 40 years. On 1 April 2009 the company revalued the building to its current fair value of $120,000. What is the double entry to record the revaluation?									(4 Marks)
iii. Accounting as an information system has six elements. Name them		(6 Marks)



Question Three
The trial balance of Kariuki Ltd revealed a difference in the books for the year ended 30th November 2016. In order that errors could be located, it was decided to prepare purchases and sales ledger control accounts. From the following information, prepare the control accounts and show any error that may have been made:						(20 Marks)
							Shs
Sales	- cash 						344,890
· Credit					268,187
Purchases – Cash					14,440
· Credit					496,600

Total receipts from customers				600,570
Total Payments to suppliers				503,970
Discount allowed					5,520
Discount received					3,510
Refunds given to cash customers			5,070
Balance in sales ledger set off against 
balance in the purchases ledger			70
Bad debts written off					780
Increase in allowance for doubtful debts		90
Credit notes issued to credit customers		4,410
Credit notes received from credit suppliers		1,480

b) List down the three activities found when preparing the cash flow statements	(3 Marks)
c) There is a difference between a cash flow and accounting profit. Explain them	(7 Marks)

Question Four
You are presented with the following information relating to Plott plc for the year to 31 March 20X1:							 £’000 

Bank overdraft 					500 
Called-up share capital (issued and fully paid) 	2,100 
Corporation tax (based on the proﬁt 
for the year to 31 March 20X1) 			900 
Creditors 						300 
Debtors 						200 
Deferred taxation (credit) 				80 
Fixed assets: at cost 					3,800 
accumulated depreciation (at 31 March 20X1) 	1,400 
Fixed asset investments: at cost 			100 
Proﬁt and loss account (at 1 April 20X0: credit) 	1,200 
Proposed dividend 					420 
Retained proﬁt (for the year to 31 March 20X1) 	585 
Share premium account 315 Stocks: at cost 
(at 31 March 20X1)					 400 
Trade creditors 					2,000 
Trade debtors 						5,300 

Additional information:
1 The above information has been obtained after the compilation of the company’s proﬁt and loss account for the year to 31 March 20X1. 
2 Details of ﬁxed assets for the year to 31 March 20X1 are as follows: 
£000 
(a) At cost At 1 April 20X0 3,400 
Additions 			600 
Disposals 			200 
(b) Accumulated depreciation At 1 April 20X0 1,200 
Additions 					       500 
Disposals 					        300 
3 The market value of the ﬁxed asset investments at 31 March 20X1 was £110,000. There were no purchases or sales of ﬁxed asset investments during the year. 
4 Stocks comprise ﬁnished goods. The replacement cost of these goods is similar to the value indicated in the balance sheet. 
5 Assume that the basic rate of income tax is 25 per cent.
6 The authorised share capital of the company consists of 2,500,000 ordinary shares of £1 each. 

Required: 
a) In so far as the information permits, prepare Plott plc’s balance sheet as at 31 March 20X1 in accordance with the publication requirements of the Companies Act 1985 and related accounting standards. Notes: 1 where appropriate, formal notes must be attached to your balance sheet; and 2 detailed working should be submitted with your answer 
(20 Marks)
b) Discuss the issues affecting corporate governance in Kenya	in matters relating to the actions of the managers and to accounting information			(10 Marks)
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